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Esercizio 1 Calcolare ∫
Ω
ey dxdydz

Dove Ω = {(x, y, z) ∈ R3 : |y| ≤ 1− |x| , |z| ≤ cosh y}

Esercizio 2 Sia C = {(x, y, z) ∈ R3 : (y − 1)2 ≥ x2 + z2 , 0 < y < 1}. Calcolare∫
C

√
(y − 1)2 − x2 dxdydz

Esercizio 3 Sul dominio D = {(x, y) ∈ R2 : 0 < x < π , sinx < y < x} calcolare∫
D

(1− cosx) cos(x− y) dxdy

Esercizio 4 Sia D = {(x, y) ∈ R2 : x2 + y2 ≤ 2x , 0 < x < |y|}. Calcolare∫
D
y2 + x2y dxdy

Esercizio 5 Calcolare ∫
Ω

dxdy

cos2 x sin 2y

Dove Ω = {(x, y) ∈ R2 : π
4 ≤ x ≤ 1 , π

4 ≤ y ≤ x}
( Suggerimento : Potrebbe essere utile ricavare la tangente da sin 2y)

Esercizio 6 Sia ℵ = {(x, y, z) ∈ R3 : 0 < y ≤ 4− x2 , 0 < z < 1− x2}. Calcolare∫
ℵ

ee
x+x

(3 + z)2(3− y)2
dxdydz

Esercizio 7 Sia Ω = {(x, y, z) ∈ R3 : x2 + y2 ≤ sin2 z , 0 ≤ z ≤ π}. Calcolare V ol(Ω).

Esercizio 8 Calcolare ∫
S

sin(x+ y + z)dxdydz

Dove S = {v ∈ R3 : ‖v‖2 ≤ 1}
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Esercizio 9 Calcolare sul dominio D = {(x, y, z) ∈ R3 : x2 + y2 + z2 < 2 , x2 + y2 < z}
l’integrale ∫

D

√
1− x2(1 + y2)√

2− (x2 + y2)− (x2 + y2)
dxdydz

Esercizio 10 Calcolare ∫
Ω
ex+z dxdydzdw

Dove Ω = {(x, y, z, w) ∈ R4 : 0 < w < 1 , 0 < x < w , 0 < y < −x+ w ,
0 < z < x+ y + z}
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